	Variable
	Value
	Example Values

	RSI 1 Period
	Number
	7

	RSI 1 Up Level
	Number 1-100
	80

	RSI 1 Down Level
	Number 1-100
	20

	RSI 2 Period
	Number
	7

	RSI 2 Up Level
	Number 1-100
	70

	RSI 2 Down Level
	Number 1-100
	30

	Active for (bars)
	Number
	200

	Autolot 
	True / False
	True

	Autolot Size
	Number
	1000

	Initial Lot
	Number
	0.05

	Max Lot
	Number
	100

	Max Orders
	Number
	6

	Virtual TP points
	Number
	60

	Virtual SL points
	Number
	1500

	Max Spread
	Number
	35

	Start Hour
	Number (0-24)
	3

	End Hour
	Number (0-24)
	20

	TP points
	Number
	2000

	SL points
	Number
	2000

	Magic number
	Number
	12345



How it works:
A divergence is when the RSI makes a higher low, while price makes a lower low. For price comparisons, compare candle closing price! This EA uses RSI 1 as a reference point to see if it should open an order at RSI 2 levels. 
Based on RSI 1 Up/Down Levels entered, the EA will be looking for entries when the RSI value is below “RSI 1 Down Level” (for buys) or above “RSI 1 Up Level” (for sells). No orders will be triggered yet!
Example for BUYS:
In the example below, the arrow points to the first bar where the EA will start looking for buys.
· If the next RSI value is lower than the previous bar. The new bar is taken as reference. 
· If the next RSI value is higher than the previous bar. The old bar is locked as reference. Display message “RSI 1 locked” in upper right corner of chart. The EA must also remember the closing price for this bar!
· If a new RSI value is lower than the locked value, the new bar is taken as reference. Display message “RSI 1 locked” in upper right corner of chart. The EA must also remember the closing price for this bar!
In the example below, the black arrow is where we first get a valid RSI signal (because it is below “RSI 1 Down Level” 80, but only at the red arrow will the RSI value be locked.
[image: ]

Now that RSI 1 is locked, to make the first buy order, following condition must be met:
· If price closes at a value below closing price at RSI 1 AND current RSI close is below “RSI 2 Down Level” AND current RSI is above reference RSI 1, open a buy order
· After first order, if price closes at a value below price at RSI 1 AND current RSI close is below “RSI 2 Down Level” AND price is now below last order price, open another buy order. This means that after 1 order is opened, RSI 1 is definitely locked and it is no longer necessary that RSI 2 is above RSI 1. New priority is to average down.
In conclusion, orders will be opened at the vertical bars in the screenshot below (at first available price after bar closes). Red arrow indicated reference bar.

[image: ]

For sells, the logic is simply the other way around.
[bookmark: _GoBack]
General aspects:
· Take profit will be virtual and will be set as X points from the average price of all orders (buys and sells separately). This means Virtual TP will be adjusted after each new order. Display Virtual TP line on chart. All orders will be closed when Virtual TP is reached
· Same procedure for Virtual SL
· Display all completed trades on the chart afterwards
· Max Orders = 6 means there will be a maximum of 6 Buys and 6 Sells running simultaneously. (Meaning the max total orders is 12 in this example)
· Start Hour and End Hour is used to limit the time period when EA is active. Use the time in Market Watch for this. Open trades are managed by the EA also outside of these active hours, but no new orders are opened.
· Active for (bars) = if the conditions are met and RSI 1 is locked, the EA will look for entries in the next X bars. 
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